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Universe.Kuukan.hensuu(3, 0,0) =5
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Universe  MikanSousuu( )
Univ_Init{
dim i as integer

for i = 0 to universe.MikanSousuu — 1

createagt(universe. TUKUE.Mikan)

next i
}
5
Agt_Init{
Movetocenter() -
Movetospaceowncell(20) -
if rnd() < universe.RRate then -
my.fuhai = true -
my.iro = RGB(150, 70, 0)
else
my.fuhai = false -
my.iro = RGB(255, 170, 0) «
end if
}
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Agt_Step{
dim i as integer

dim j as integer

if my.fuhai = = true then -
fori=0to 2 1 012
forj=0to 2 < j 012
universe. TUKUE.Houshi(my.X+i-1, my.Y+j-1, 0) =
universe. TUKUE.Houshi(my.X+i-1, my.Y+j-1, 0) + 1
next j T ixl -1,0,1 9 +1
next i
else -

if universe. TUKUE.Houshi(my.X, my.Y, 0) >=5then -5

my.fuhai = true -
my.iro = RGB(150, 70, 0) -
end if
end if
}
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dim i as integer

dim j as integer

for i = 0 to getwidthspace(universe.jimen) - 1
for j = 0 to getheightspace(universe.jimen) - 1
Universe.jimen.yuki(i, j, 0) =1
next j

next i



Universe init Step_begin

1
a,b,c,d4
a ¢
b d
1
2 b
3 c( )
4. d
c a b
1 C
L
2 (a,b,d )
a,b,cd
L
3
Gethistory()
Gethistory(
) 1 aite  x

Gethistory(aite.x, 1)



if gethistory(universe. TUKUE.Houshi(my.X, my.Y, 0), 1)>=5 then

1+1=2



